Units





A�ampere��Å�ångström = 10-10 m��
acre�4840 yd2��at�technical atmosphere = 98.0665 kPa��atm�normal atmosphere = 101.325 kPa��(B�degree Brix = % sucrose on weight basis��
barye�0.1 Pa��
Bd�baud��
BOE�barrel oil equivalent = 6*106 Btu��Bq�becquerel = s-1��Btr�British ton of refrigeration = 332 kBtu 24 h-1��Btu�British thermal unit ( 1055.06 J��
C�coulomb = A s��
(C�degree Celsius = (x + 273.15) K��
caliber�0.01 in��
cd�candela��
ch�(Gunter's or surveyor's) chain = 22 yd��
Ci�Curie = 37*109 Bq��
dalton�atomic weight unit ( 0.99968218 u��
dyn�dyne = 10-5 N��erg�10-7 J��eV�electron-volt ( 1.60219 10-19 J��F�farad = C V-1��(F�degree Farenheit = (5/9)(x + 459.67) K��fath�fathom = 2 yd��fbm�foot board measure = 1 ft2 in��fc�foot-candle = 1 lm ft-2��
ft (UK)�foot = 1/3 yd��
g�gram = 1/1000 kg��
Gy�gray = J kg-1��
H�henry = V s A-1��
h�hour = 3600 s��
hand�4 in��
Hz�hertz = s-1��in (UK)�inch = 25.4 mm��
J�joule = N m��K�kelvin��kg�kilogram��
kWh�kilowatt-hour��l�litre = 10-3 m3��
league�3 mile��
link�1/100 ch��
lm�lumen = cd sr��
lx�lux = lm m-2��
m�metre��
Mg�megagram (= 1000 kg)��
mol�mole��
N�newton = kg m s-2��
(�ohm = V A-1��
P�poise = 0.1 Pa s��
Pa�pascal = N m-2��
Ph�phot = 104 lx��
pl�poiseuille = 1 Pa s��
rad�radian��rod�1/4 ch��rood�40 rod2��rt�register ton��s�second��
S�siemens = A V-1��
span�9 in��
Sr�Stearadian (1 revolution)��
Sv�sievert = J kg-1��T�tesla = Wb m-2��
Torr�1/760 atm��
u�atomic mass unit ( 1.66057 10-27 kg��V�volt = W A-1��W�watt = J s-1��Wb�weber = V s��yd (UK)�yard = 0.9144 m��other�open option when the units given above is not sufficient��



